
Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/language/en   

www.lightspares.com I ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria 

 

 

Complete Spare Parts List of  

High End Systems Color Command 

 
UP90008 BEZEL FRONT 

80010184 BOARD DIP SWITCH  

UP90314 BOARD DIP SWITCH WITH METALWORK 

80010179 BOARD ROTARTY SWITCH 

UP90068 FAN 

UP90304 FRONT LENS 

UP90080 HARNESS RELAY TO LAMP WIRES 

UP90039 MOTOR 

UP90301 REAR COVER W/ HANDLE 

UP90089 RELAY WITH REGULATOR BOARD 

UP90069 RING RETAINING TILT 

UP90052 SHAFT TILT LEFT 

UP90142 SHAFT TILT RIGHT 

UP90064 SOCKET LAMP W/ WIRE 

UP90079 SWITCH THERMAL 

UP90309 WHEEL CYAN 

UP90307 WHEEL MAGENTA 

UP90308 WHEEL YELLOW 

UP90017 STANDOFF REFLECTOR SPACER CCMD 

UP90312 SHIELD ASSY LAMP CCMD SVC 

UP90142 SHAFT TILT RIGHT CCMD 

UP90052 SHAFT TILT LEFT CCMD 

UP900M4_12AC SCREW M4 SOCKET CAP 12 BZ SEMS 

UP900M4_16PF SCREW M4 PHIL PAN 16 

UP90069 RING RETAINING TILT TUBE CCMD 

UP90011 PLATE TILT STOP CCMD 

UP90136 GUARD YOKE WIRE CCMD 

UP90053 COVER TILT END CAP CCMD 

UP90311 ASSY VENT RING CCMD 

UP90302 ASSY REFLECTOR CCMD 

UP90306 ASSY OPTICAL MODULE CCMD 

UP90001 YOKE FIXTURE MOUNT CCMD 

UP90137 WASHER HEAD TILT CCMD 

UP90085 WASHER BELLVILLE 8,0X16,0X0,8 MM THK 

UP90082 STRAIN RELIEF AC POWER CORD 

UP90092 SHIELD HEAT ELECTRONICS BOX SLKSCR 

UP90132 NUT M4 KEPS 

UP90077 LENS LED 190 DIA RED CCMD 

UP90063 KNOB M8 THD CCMD 

UP90002 ENCOLOSURE ELECTRONICS BOX CCMD 

http://www.lichtboxx.com/index.php/cPath/158/language/en
http://www.lightspares.com/


UP90070 CLAMP HALF 12MM X M4 THD CCMD 

UP90145 CLAMP HALF 12MM X 5,44 THRU CCMD 

UP90071 BOLT M8- 1,25 CARRIAGE 20 LG 

80010162 BOARD ASSY DATA IN OUT CCMD 

UP90089 ASSY RELAIY REGULATOR 24V 

UP90079 SWITCH THERMAL 

UP90014 SPACER COLOR WHEEL SHAFT 

UP90050 SHIELD MOTOR 

UP90013 SHAFT ROLLER BEARING 

UP90123 SCREW M4 PHIL PAN 32 

UP90120 SCREW M4 PHIL PAN 08 SEMS 

UP90121 SCREW M4 PHIL PAN 08 SEMS 

UP90126 SCREW M3 SOCKET CSNK FLAT 08 BZ NYTEMP 

UP90127 SCREW M3 PHIL PAN 06 SEMS 

UP90016 ROLLER MASKING PLATE  

UP90015 ROLLER COLOR WHEEL ASSY 

UP90088 PLATE THERMAL SWITCH SUPPORT 

UP90018 PLATE MASKING 

UP90132 NUT M4 KEPS 

UP90131 NUT M3 KEPS 

UP90003 MOUNT MOTOR 

UP90305 LENS ASSY REAR  

UP90304 LENS ASSY FRONT 

UP90075 GURAD MOTOR HARNESS 

UP90068 FAN ASSY 

UP90084 DEFLECTOR AIR MOTOR ASSY 

UP90054 BRACKET FAN MOUNT 

UP90310 ASSY WHEEL RESIZER  

UP90307 ASSY WHEEL MAGENTA 

UP90308 ASSY WHEEL YELLOW 

UP90309 ASSY WHEEL CYAN 

UP90039 ASSY MOTOR GEAR 

UP900M4_16AC SCREW M4 SOCKET CAP 16 BZ SEMS 

UP90048T FRAME CENTER OPTICAL TOP 

UP90303 COVER ASSY CENTER 

UP90008 BEZEL FRONT 

UP90301 ASSY REAR COVER HANDLE 

UP90064 SOCKET LAMP W/ WIRE 

900M4_14PPW SCREW M4 PHIL PAN 14 

UP90057 SCREW LAMP REPLACE 

UP90302 REFLECTOR ASSY 

55030064 LAMP 750W HALOGEN G9,5 

UP90021 HEATSINK LAMP SOCKET 

UP90076 HANDLE LAMP HOUSING 

UP90064 SOCKET LAMP W/ WIRE 

UP90148 LENS BEAM SIZE 25 SEGMENT MOLDED 

UP90081 HARNESS POWER 



UP90065 HARNESS MOTOR 

UP90080 HARNESS LAMP POWER 

UP90153 FOAM 65 X 45 X 1,5 MM 

 
 

  

Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/language/en   
www.lightspares.com I ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, 

Austria 

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

 

http://www.lichtboxx.com/index.php/cPath/158/language/en
http://www.lightspares.com/

